Pre-Calculus 11

2.3 - The Sine Law (Part II):  “The Ambiguous Case”
Sometimes, we are given a description of a triangle, rather than a diagram.

Ex.  In a triangle, a side of length 1.8 cm is contained by angles of 
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.  Solve the triangle. 
















The above example was straightforward.  We were given the measures of two angles and one side (ASA).

THE AMBIGUOUS CASE:  Given one angle, a side, and the opposite side.
Ex.  Draw a triangle given 
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A & sides a and b, where b > a.                                       (Hint:  Sketch the opposite side last!)
· There are 2 possible triangles 
· If  a = h, then we have only a right (.

- If a < h, we have no (’s
Definition:  Oblique Triangle:  A triangle that does not contain a right angle.
Ex.  Given a triangle in which 
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, how many possible triangles are there?  Solve for all unknown sides and angles.  (p. 107 Example 3)



























Number of Possible Triangles (Angle-Side-Side)

Depending on the information given, we can limit the number of possible triangles.

I) In this case the length of the opposite side of 70( is too short and will not make a triangle 


·  When a < h ( no possible triangle

II) In this case length of the opposite side of 40( can occupy 2 positions (ambiguous case)


·  When h < a < b ( two possible triangles

·  When a > b ( only one possible triangle


III)  For obtuse (A: If a ( b, then there is no triangle 




-  We must have:  a > b  (  one possible triangle 

Homework:  p. 108 #6-9, 16, 22
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